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DD–128 

M. Com. (Fourth Semester) 

EXAMINATION, 2020 

(Optional&Specialization) 

(Optional Group—D : Taxation and Accounting) 

Paper First 

DIRECT TAX IN INDIA 

Time : Three Hours 

Maximum Marks : 80 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- vk;dj ds fy, djnkrkvksa dk fuoklLFkku fdl izdkj  

fu/kkZfjr fd;k tkrk gS \ fuoklLFkku dk dj nkf;Ro ij Hkkj 

le>kb,A  

How is residence of assessees determined for income tax 

purposes ? Explain the incidence of residence on tax 

liability.   
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vFkok 

(Or) 

,slh iUnzg vk; dh enksa dks le>kb, tks dqy vk; esa ugha 

tksM+h tk;saxhA 

Explain any fifteen items of income which are not 

included in total income.  

bdkbZ&2 

(UNIT—2) 

2- Jh fuosfnr dss fuEukafdr fooj.kksa ls dj&fu/kkZj.k o”kZ 2019&20 

ds fy, mldh dqy vk; ,oa ‘kq) ns; vk; dj dh x.kuk 

dhft, % 

  ` 

(i) edku lEifŸk ls fdjk;k ¼mn~xe LFkku ij 

10% dj dVkSrh dh ‘krZ ds lkFk½ 3,00,000 

(ii) nh?kZdkyhu iw¡th ykHk ¼vkdfyr½ 2,00,000 

(iii) Lo;a ds O;kikj dk ykHk 8,00,000 

(iv) ykWVjh ls vk; ¼ldy½ 80,000 

(v) ‘kq) d`f”k vk; 40,000 

(vi) mPp f’k{kk gsrq fy, x, _.k dk Hkqxrku 30,000 



 [ 3 ] DD–128 

 P. T. O. 

From the following particulars of Mr. Nivedit, calculate 

his total income and net tax payable by him for the 

assessment year 2019-20 : 

  ` 

(i) Rent from let out property (subject to 

TDS @ 10%) 3,00,000 

(ii) Long-term capital gain (computed) 2,00,000 

(iii) Profit from own business  8,00,000 

(iv) Income from lottery (gross) 80,000 

(v) Net agriculture income  40,000 

(vi) Payment of interest on loan taken for 

higher education 30,000 

vFkok 

(Or) 

31 ekpZ] 2019 dks lekIr gksus okys xr o”kZ ds fy, ,d 

vfuoklh O;fDr ¼vk;q 70 o”kZ½ dh Hkkjrh; vk; dk fooj.k fuEu 

izdkj gS % 

  ` 

(i) osru ls vk; ¼x.kuk dh xbZ½ 1,72,000 

(ii) edku lEifŸk ls dj;ksX; vk; 47,000 

(iii) vYidkyhu i¡wth ykHk 72,000 

(iv) Hkwfe o Hkou ds lEcU/k esa nh?kZdkyhu iw¡th 

ykHk 1,20,000 

(v) vkHkw”k.kksa ds lEcU/k esa nh?kZdkyhu iw¡th gkfu 17,000 

(vi) vkdfLed vk;&TV ij [ksy 20,000 
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mlus vius thou ij yh xbZ ,d ikWfylh dk thou chek 

izhfe;e ` 6,000 pqdk;k] izekf.kr izkWfoMs.V Q.M esa va’knku  

` 5,000 rFkk ,d vuqeksfnr laLFkk dks psd }kjk ` 20,000 nku 

fn;kA mlds ‘kq) dj nkf;Ro dh x.kuk dhft,A  

The particulars of Indian income of a non-resident 

individual (aged 70 years) for the previous year ended 

31st March, 2019 are as under : 

  ` 

(i) Income from salary (computed) 1,72,000 

(ii) Taxable income from House property  47,000 

(iii) Short-term capital gains  72,000 

(iv) Long-term capital gains in respect of 

land and building  1,20,000 

(v) Long-term capital gain in respect of 

jewellery  17,000 

(vi) Causal income—game on TV 20,000 

He paid Life Insurance Premium ` 6,000 on a policy 

taken on his own life, contribution to Recognised 

Provident Fund ` 5,000 and donated a sum of ` 20,000 by 

cheque to an approved charitable institution. Compute his 

net tax liability.  
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bdkbZ&3 

(UNIT—3) 

3- ^loksZŸke fu.kZ; dj&fu/kkZj.k* ls D;k vFkZ gS \ dj&fu/kkZj.k dh 

bl i)fr dks fdu ifjfLFkfr;ksa eas viuk;k tkrk gS \ D;k ,sls 

dj&fu/kkZj.k ds fo#) djnkrk ds ikl dksbZ mik; gSa \ 

What is meant by the expression “Best Judgement 

Assessment” ? Under what circumstance can recourse be 

had to this method of assessment ? Are there any 

remedies open to the assessee against such assessment ?  

vFkok 

(Or) 

dj&fu/kkZj.k dh fofHkUu fof/k;ksa dks la{ksi eas le>kb,A  

Explain briefly the different types of assessment.   

bdkbZ&4 

(UNIT—4) 

4- fel ik;y vxzoky dh foŸkh; o”kZ 2019&20 ds fy, pkyw vk; 

dk vuqeku fuEukafdr gS % 

(i) O;olk; ls dj;ksX; vk; ` 11,05,000 

(ii) vU; lk/kuksa ls vk; ` 65,000 

mlus vius thou ij ,d thou chek ikWfylh ys j[kh gS 

ftldk okf”kZd izhfe;e ` 76,000 gSA og /kkjk 80 D ds 

vUrxZr ` 4,000 dVkSrh dh ik= gSA 
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vfxze dj dh x.kuk dhft, ,oa fofHkUu frfFk;ksa ij tek dh 

tkus okyh jkf’k Kkr dhft,A ;fn fel ik;y dh ,d vk; eas 

mn~xe LFkku ij ` 3,080 dj dkVk x;k gksA  

Miss Payal Agarwal estimates her current income for the 

financial year 2019-20 as follows : 

(i) Taxable income from business ` 11,05,000 

(ii) Income from other sources  ` 65,000 

She has taken a Life Insurance Policy on her own life and 

of which annual premium is ` 76,000. She is eligible for 

deduction U/S 80D ` 4,000. 

Calculate advance tax and find out the amount to be 

deposited on different dates assuming that the deduction 

at sources on an income of Miss Payal is ` 3,080. 

vFkok 

(Or) 

pqdk;s x;s dj dh okilh ysus ds fy, dk;Zfof/k dk o.kZu 

dhft,A os dkSu&lh ifjfLFkfr;k¡ rFkk lhek,¡ gSa] ftuds vUrxZr 

,slh ek¡x Lohdkj dh tkrh gS \ 

Describe the procedure for obtaining a refund of tax 

already paid. What are the circumstances and limitations 

under which such a claim is allowed ? 

bdkbZ&5 

(UNIT—5) 

5- Hkkjrh; vk;dj fo/kku esa fdu&fdu izkf/kdkfj;ksa dk o.kZu fd;k 

x;k gS rFkk muds D;k dk;Z gSa \ 
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What are the various authorities envisages in the Indian 

Income Tax Law and what are their functions ? 

vFkok 

(Or) 

dfe’uj ¼vihy½ ds vkns’k ds fo#) vihysV fVªC;wuy esa vihy 

djus dh dk;Zfof/k dk la{ksi esa o.kZu dhft,A  

Describe briefly the procedure of an appeal to appellate 

tribunal against the order of Commissioner (Appeals). 
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